Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 10IS81
Eighth Semester B.E. Degree Examination, Dec.2019/Jan.2020
Software Architectu;ré

Time: 3 hrs. Max. Marks:100
Note: Answer FIVE full questtons, selecting
at least TWO questtons from each part.
PART — A y
1 a “Explain with a neat
diagram. , (08 Marks)
b. Explain the various process reeommendatlons as used by an archltect while developing
software architectures. . (06 Marks)
c. Define architectural model, referencc model, reterence archltecture and bring out the
relationship between them. -~ (06 Marks)
2 a. Explain the process control paradigm with various process control definitions. (08 Marks)
b. What are the basic requirements for a mobtle robot s architecture? How the implicit
invocation model handles them? (08 Marks)
c¢. Write a note on heterogeneous architectures. (04 Marks)
3 a. Briefly explain the testability tactics. g (07 Marks)
b. What are the qualities of the system? Explain the modifiability general scenario. (07 Marks)
c. [Explain how faults are detected and prevented using availability tactics. (06 Marks)
4 a. List and explain the benefits and liabilities of pipes and filters pattern. (08 Marks)
b. Define architectural pattern for blackboard Brleﬂy explam the steps to implement the
blackboard architectural pattern. N (08 Marks)
c. Write a short note on HEARSAY — Il system. _ %" . (04 Marks)
PART — B
5 a. What do you mean by broker architecture? What are the steps mvolved in implementing
distributed broker architecture patterns. = (08 Marks)
b. Give the CRC cards for top level, intermediate level and bottom level PAC-agents.
Highlight the limitations of PAC pattern. (08 Marks)
c. Depict the dynamic behavior of MVC, with any one scenario. (04 Marks)
6 a. Discuss the benefits and liabilities of reflection architectural pattern and also highlight the
known uses of reflection architectural pattern. (07 Marks)
b. Explam in brief, the components comprising the structure of microkernel architectural
pattern with OMT (Objeet Modehng Technique) diagram. Also draw the CRC cards for each
component. (08 Marks)
¢. Explain the steps mvolved n 1mplement1ng the Microkernel system. (05 Marks)
7 a. With a neat sketch,,explam the typical dynamic scenario of a proxy structure. Highlight the
consequences of proxy structure. (07 Marks)
b. List and explain the steps to implement whole part structure. (07 Marks)
c. Give the structure of master slave design pattern with CRC. And discuss the variants of
master slave design pattern. (06 Marks)
8 a. Explain with a neat diagi‘am the evolutionary delivery life cycle model. (07 Marks)
b. Briefly explain the different steps performed while designing an architecture using the ADD
method. (07 Marks)
c. Explain the three step procedure for choosing the views for your project. (06 Marks)
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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 10CS82
Eighth Semester B.E. Degree Examination, Dec.2019/Jan.2020
System Modeling and Simulation

Time: 3 hrs. “Max. Marks:100
Note: Answer FIVE full questions, selectiltigr |
1 a (05 Marks)
b. Differentiate betwee (05 Marks)
c. A grocery store has mers arrive at this checkout counter at
random from 1 (o mmutes apart and each interval time as the same probability of
occurance. The : ) 6-minutes, with probability given below:
Service (minutes) hide”| 5 6
Probablhtx_ 0.10] 0.20 | 0.30 0"}25 0.10 | 0.05
i arrival of six customers and calculate the following:
i) - verage waiting time for a customer.
(i)~ Probability that a customer has to wait.
(iii)  Probability of a server being Idle.
(iv)  Average service time.
(v) Average tuné etween arrival. ‘
Use the following sequence of random numbers:
Random digit for arrival : 913, 727, 015, 948, 309, 922
Random digit for~ erv1ce time : 84, 10, 74, 53 17 (10 Marks)
2 a. Briefly define any four concepts used in discrete event simulation. (04 Marks)
b. ing system snapshots at“‘ lock =t and clock ot H explain event scheduling algorithm.
e - (06 Marks)

3

a.
b.

inning of business as determined by lead time. Initially simulation
nits scheduled to arrive in 2 days of time.

Probability |.0.10 .
Lead time is a random varLable Wlth the followmg probability distribution:
Lead time (days) | 1 | 2 | 3
Probability 6:10.3]0.1
Random digits for demand 24, 35, 65, 81, 54, 03, 87, 27, 73, 70, 47, 45, 48, 17, 09

Random digit for lead time : 5, 0, 3 order quantity 9, 11. Simulate for 3 cycles. (10 Marks)

Differentiate béﬁi}éen continuous and uniform distributions. (10 Marks)
Briefly explain Poission process. (10 Marks)
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10CS82

Explain the characteristics of a queuing system. List d1fferen euing notations. (10 Marks)
Suppose that the inter arrival times and service time ingle chair unisex-hair-styling
shop have been shown to be exponentlally distributed the values of X and p are 2 per hour
and 3 per hour respectively that is, the time betwee rrivals averages %2 hr, exponentially
distributed and the service time averages 20 minutes, also exponentially distributed. How
server utilization and the probabilities for zero, one, two, three and four or more customers

in the shop are computed? (10 Marks)

What are pseudo random numbers? What are the problems that occur while generating

pseudo random numbers? ‘ (06 Marks)
Generate 6 three digit random n rnbcrs using multlpl' ative congruential method with
X,=117,a=43 andM=10 (06 Marks)

esponse times to mcommg alarms have been collected to be
“staffing and crew scheduling policies.

Five observations of fire-cre
used in a simulation investigating possible alternati
The data are 2.76, 1.83,70.80, 1.45, 1.24
Develop a preliminary simulation model that uses a response time distribution for five
observations. method for generating ‘random variates from the response time
distribution is needed. Initially response time X have a range 0<X <C. If a random number
R; = 0.71. How 1t can be represented in graphical view as in Emprical cdf. (08 Marks)

Explain 'the ‘need for input modehng and histogram method of identifying the iput

d15tr1but10n (06 Marks)
How chi-square test can be derwed from goodness-of- (04 Marks)
Briefly explain time-series 1nput models. (10 Marks)

estimation. (10 Marks)
How the output na1y51s applied for,s id n? Explain any one output
analysis. (10 Marks)

ion? Explain with diagram.

(10 Marks)
‘mation of the model and the various
(10 Marks)




Important Note : 1. On completing your answers, ccﬁhpulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator'and /or équations written eg, 42+8

USN 10CS/IS835
Eighth Semester B.E. Degree Examinatiofi} Dec.2019/Jan.2020
Information and Network Security

Time: 3 hrs. Max. Marks:100
Note: Answer any FIVE, full uestions, selectmg
at least TWO questions from each part e
R
1 a Explam the three types of securi : oﬁeheles defined in planmﬂg”«@“ecurlty (10 Marks)
b.  Describe the major steps mvolv* L4 contmgency plannmg«tf\g:ﬂ neat diagram. (10 Marks)
2 a. What are firewalls? Exp 1 in'the processing mode o *ﬁ?ewalls. (06 Marks)
b. Give the best practm% or firewall. ‘ (06 Marks)
c. How do you protgét mote connections? Explain. (08 Marks)
A
3 a. List the Q%amatlonal requxrements “and constraints involved in designing Intrusion
Detectlon Sy@tem (IDS) (06 Marks)
b. Compare Honey pots, Honey nets ancl padded cell systen (06 Marks)
c. How'tsdeploy and 1mp1ement TDSQ Explain. (08 Marks)
4 a- 'Deﬁne Cryptography, Cryptosystems and Crthanalyms oo (06 Marks)
b. Compare substitution ciphers with transposﬁ“xon*mphers (06 Marks)
c. Describe any two types of Cryptographlgggpols (08 Marks)
) R, ’
5 a Compare%Kef?beros version 4.0 w;thw 0. (06 Marks)
b. Descrlbg”@ﬁ‘“e various securlty mecflamsms deﬁne 'nX 800 services. (06 Marks)
c. (08 Marks)
6 a the PGP cryptogi%’phic functlons with neat diagrams. (10 Marks)
b.% ‘tent types of S/MII\%E functionalities. (10 Marks)
7 a. Givethe apphﬁéﬂon and beneﬁt of IP securlty _ (06 Marks)
b. How the Oaggley key determmatlon protocol is different from Diffie — Hellman algorithm?
Explain. e (06 Marks)
c. Explain Authentication Header and ESP protocol with formats. (08 Marks)
- rj? u '
8 a. Explain SSL prﬁ%é%l architecture in detail. _ (10 Marks)
b. What is SET? Explain how the cardholder sends purchase request via SET. (10 Marks)
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50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

10CS/1S841

USN
Time:
1 a.
b.
2 a
b.
c.
3 a.
b.
c.
4 a.
b.
5 a
b.
6 a
b.

7
c.
8 a
b.
8.

Eighth Semester B.E. Degree Examination, Dec.2019/Jan.2020

Ad-hoc Networks

3 hrs. Max. Marks:100

tions, selecting

Note: Answer FIVE full

List and explain the applicationl: of Ad-hoc wireless networ : (10 Marks)
With the help of neat diagram explain Ad-hoc wireless internet. (10 Marks)
Explain the design goals of a MAC protocol for Ad— c wireless networks. (06 Marks)
Briefly explain 5 phase reservation protocol with frame structure. (08 Marks)
Explain MACA w‘ith Piggy-Backed reservation. ‘ (06 Marks)

Explain the use of directional antennas in MAC protocols for Ad-hoc networks. (06 Marks)
With the help of figure, explam Drstrrbuted Laxity Based Privities Scheduling Scheme
(08 Marks)
(06 Marks)

work. (10 Marks)

Protocol (AODV).
(10 Marks)

(10 Marks)
(10 Marks)

goals of transport layer protocol for Ad-hoc wireless network.
(10 Marks)

Grve five reasons statrng why TCP doesn t work well in Ad-hoc wireless network. (10 Marks)

Explam the four key network security requirements. (04 Marks)

Briefly explain issues and challenges in security provisioning. (08 Marks)

Explain wrth dragram security: aware Ad-hoc routing protocol. (08 Marks)

Briefly explarn the issues and challenges in providing QoS in Ad-hoc wireless networks.

: (08 Marks)
Explain the cluster- TD‘ : protocol used for providing MAC layer QoS solution in Ad-hoc
networks. (06 Marks)

Write a note on hard state versus soft state resource reservation. (06 Marks)
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